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] 10,837 50,503 22,699 84,039 ] 2,901 12,748 6,502 22,151
= 10,373 51,615 30,842 92,830 = 2,772 13,890 9,355 26,017
it 21210 102,118 53,541] 176,869 £t 5673 26,638 15,857 48,168
R 12.0% 57.7% 30.3% 100.0% R 11.8% 55.3% 32.9% 100.0%
EEAOIEE 73.2 EEAOEH 80.8
L YNNECE 20.8 L ONNECE 21.3
EEANOEH 52.4 EEANOEH 59.5
EZEILIEH 252.4 EZEILIEH 279.5
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O0~14 [15~64365mLLE =t 0~14E[15~64865m L. E it
] 1,425 6,896 3,685 12,006 ] 2,189 9,770 4,454 16,413
= 1,339 7,231 4,919 13,489 = 2,065 9,721 6,051 17,837
it 2,764 14,127 8,604 25,495 it 4,254 19,491 10,505 34,250
i 44 10.8% 55.4% 33.7% 100.0% R 12.4% 56.9% 30.7% 100.0%
EEAOEH 80.5 REEAOEH 75.7
F/Ho NOERK 19.6 FOANOEH 21.8
EEANOEH 60.9 EEAOEH 53.9
EZEILIEH 311.3 ZEILIEH 246.9
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O0~14 [15~64365m Ll E =t 0~14E [15~64865m Ll E it
E:] 2,643 13,584 5,028 21,255 2] 1,679 7,505 3,030 12,214
= 2617 13,209 6,596 22,422 = 1,580 7,564 3,921 13,065
it 5,260 26,793 11,624 43,677 £t 3,259 15,069 6,951 25,279
B 12.0% 61.3% 26.6% 100.0% R 12.9% 59.6% 27.5% 100.0%
HEEAOEH 63.0 HEEAOEH 67.8
F/Ho NOERK 19.6 FOANOEH 21.6
EHEANOERH 43.4 EHEAOER 46.1
ZEILIER 221.0 EZEEER 213.3
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EEAOE#H=A+C)=-BXx 100
FHANOEH=A-BXx100
EZHEAOEH=C-BXx100
EEILIEH=C-AX100
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